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QUESTION 1

The following SAS program is submitted:

libname temp “SAS data library\\'; data temp.sales;

merge temp.sales

work.receipt;

by names;

run;

The input data files are sorted by the NAMES variable:

What is the result?

A. The program executes successfully and a temporary SAS data set is created.

B. The program executes successfully and a permanent SAS data set is created.

C. The program fails execution because the same SAS data set is referenced for both read and write operations.
D. The program fails execution because the SAS data sets on the MERGE statement are in two different libraries.

Correct Answer: B

QUESTION 2

The following SAS program is submitted:
data work.staff;

JobCategory = \\FA\\;

JobLevel = \V1\\;

JobCategory = JobCategory || JobLevel;
run;

Which one of the following is the value of the variable JOBCATEGORY in the output data set?
A. FA

B. FAl

C.FA1

D. \\'\\' (missing character value)

Correct Answer: A
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QUESTION 3

The contents of two SAS data sets named EMPLOYEE and SALARY are listed below:
EMPLOYEE SALARY

name age name salary

Bruce 30 Bruce 40000

Dan 35 Bruce 35000

Dan 37000

Dan .

The following SAS program is submitted:

data work.empsalary;

merge work.employee (in = inemp)

work.salary (in = insal);

by name;

if inemp and insal,

run;

How many observations will the data set WORK.EMPSALARY contain?
A2

B. 4

C.5

D.6

Correct Answer: B

QUESTION 4

What describes the SAS automatic _ERROR__ variable?

A. The _ERROR_ variable contains the values "TRUE\\' or 'TFALSE.\\'

B. The _ERROR variable maintains a count of the number of data errors.

C. The _ERROR_ variable can be used in expressions or calculations in the DATA step.

D. The ERROR_variable contains the number or the observation that caused the error.
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Correct Answer: C

QUESTION 5

Which step displays a listing of all the data sets in the WORK library?
A. proc contents lib=WORK run;

B. proc contents lib=WORK.all; run;

C. proc contents data=WORK._all_; run;

D. proc contents data=WORK _ALL_; run;

Correct Answer: C
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